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OMAIIRHEI| S YK 222 HE 10,378
~SHE)| QHAEX B 200,00024+300H 6.000
~RHED| oHf QEIITHS - B AIDHA)
60,0002+ 1074 600
M| BY )| YK B2S I B4t
= mIx 80,0002 1074x23] 1,600
M) 2Y I 2AIS OV A
77,0002 5200 2+ 12042 1,848
M0 BY £I| 2N CV 0| S&X|
16500024274 2 3%
OMEHIIZ SHE)| YXS 0ISA LA
toileH(ceTv) <=2l 1,500,000:2! «2CH 3,000
202 048] 2,600 2,600
ENTT 2,600 2,600
OMADISZH S BI0ISHYR 43 2
o1l 2,600
-MYIIBYH S BBOISYR S
20,0002 2245302 1,200
SHYIRHET| NESHEYD S
20,0002 +22§x352! 1,400
206 TH2 6| 89,220 89,220
o1 HEH| 89,220 89,220
OMYI| BYHZE M 89,220
5128 3521+40,0000H 1,400
-104 SE(22AE) 40:21%100,0000H 4,000
-104 SS(0HES) 40%4+10,00004 400
200 BE(A2S) 6220150, 00001 9,300
200 BS(HYS) 6224 10,0000H 620
504 B 12521x180,0000H 22,500
7502 18024+170,00004 30,600
104 HASZE 40%4+200,0000H 8,000
200 HASEE 62:24+200, 00001 12,400
405 XHAHE S 36,000 22,000 14,000
01 KL SEH S| 3,000 22,000 14,000
OMEHIIZ SHEI| LXS 01SA LA
JhofikecTy) RY 4,000,00021+9CH 36,000
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2A:

I3 HDI2 NEsHEA/HIIS)
&2l HOIEXe (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
s 2c|HE 22kl 823,069 148,316 674,753
101 @124H| 248,064 0 248,064
M ORNZZE2NSE S 248,064 0 248,064
ONMEES =H & dE JI2HM 224 1A
]l 248,064
== 107, 4403222« 123 6 170,185
-=5d 107,440 x4 L+ 12«6 30,943
-4U 28 201,127,680 *12% 24,136
—22HYS 300,000 64 1,800
-EX= 3,500,000 6 21,000
201 fer=3| 70,005 143,316 AT3,311
01 At 22|l 44,307 118,630 AT4,323
oMl =HE HEs=E 72 13,206
-&2(Le) 27032002 +31 1,674
-2 (S=) 9,000& *701*314 1,953
-4l 50,0002 27 1,350
—t™ 5} 50,0002 27 1,350
-AHEEI) 20,0003 *27d 540
-0IMISiXI0tA3 5003 %3302 x264 4,407
-LBH0tA S 6603 * 100 26 1,716
7O 3002 #1442 5 216
Ot 2cldE 2g2d HYEs 7Y 486
-HY= 135,000& x22= 270
-3t 45,0002 x2% 0
-5 3 18,000 & x22= 36
- 45,0003 x2% 0
oMl 2 A=A (Y, U=, =
2 8) 7Y 1,000,000 *14] 1,000
Ostzze|dlH 28 AR (3&X) & 7
1,200,0002 %14 1,200
Ostgdac|uy 2gad A & a4 Y
180,000 *14] 180
OstZac|dE =8 M=HL ol=)] 2¢
- 7,000 *187H 126
OstZaeldy S EH 1Y
250,000 *3H 750
OHZUE =gy 237
55,0002 *4S 220
O &=l QHEBAL X ==2lH]
150,000 *1CH 150
OlgEAIE &2 "S5 /st S20HAH
8,000 x5 »45L 1,800
Ozels S 2EXI(0FtEH]) 8=
170,000 » 1204 & 2,040

_17_




2A:

B HDI2 KRS (B2/HDIZ)
&2l HOIEXe (CH9: &S1)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OFloraee e+ e
163,660% = 1201 = 1,964
OB ZBRIME F2I| A 2,193
“"4J| |XRel 2 TH DE
27,0003 1291 2 324
-H30| AUz 51,9008 =3CH* 12 1,869
OsBME ZIHEI| AL
33,0003 x2CH =124 & 792
OHAD ZATHZLE) 225 ei= 79
700,0002 »26H 18,200
02 2324l 25,698 24,686 1,012
OLAIZHAZ AJ0I2I01T AFEE
9,000& 1290 & 108
OBRIHE X5l 26 22l
540,00021%141 540
OstZ 2| el A2 «=2ld]
450,000 * 14! 450
OBZBRIMEL A2 ZAH)
630,000 x 14! 630
OUNRIEZEY Xst+ ZAE UE BT 85
SIETEEY 1,7402+30 £ *43] 209
ONEE M=) HEREH(HLR)
1,7403 %109 4 *43| 759
Oul=D| ==2lbl 45,0002 *53| 225
ORI HE P2AE 7
360,000 * 14 360
OsBRIME 2 MR
1,291,600& = 12042 15,500
OZ2IS LELI(ER)
1,620& %220 4 *63| 2,139
OBABRAME M+E NBR
33,300& 1201 = 400
OABE HYU AR
31,5003 = 1201 2 378
OHDISIHDI +21H] 200,00081%13] 200
OAEIZE 287] #2ldl
1,000,000& *13] 1,000
Otz A2|dEH Ald=2 FAI22|H] 2,800
—SAZLNYH HE=S 72
1,800,000 14 1,800
HABRIME M| W WE Pa
1,000,000 14! 1,000
207 A OHEH| 5,000 5,000
01 H1=9H| 5,000 5,000
OBER MEHIIS ABSEBI} B
5,000,000& * 14! 5,000
405 KHoHE =S| 500,000 0 500,000
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2A:

M HOI2 ASHEH/HIIZ)
=@l oISl (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 AL =S F=HI 500,000 0 500,000
OWEHDI= WD M= £X
500,000,000 * 14 500,000
HYIEXcl & HEAIE 252 1,672,214 1,640,725 31,489
101 21A4H| 10,773 8,150 2,623
04 J1ZtN22 XS E 10,773 8,150 2,623
OANESZSZUEX & stF22/dH ME=HE
192, 3753 * 7 24 H#23] 10,773
201 Ler23 | 1,498,953 1,435,087 63,866
01 At2t2ltl 126,930 102,445 24,485
OHB+N2E 22 22872 578
-0 31,5003 128 378
BN 50,0002 *4S 200
O2g2d =dI0IE A Xeldl
10,0003 +50m" *300H A 15,000
Ollgld 2gacl aHl itz 3,800
-HEs 28 glts 9,000& »200m’ 1,800
-HIZAIHEEH 2212 gXtz
500,000 x4 2,000
OMEE BB+ Mol 22 282 98 =2
OH Al 8,000 3 +2r 648
Ot ac|dE HEAE 2 2d A =
== 9,120
XISt AR SHAA 248
167,500 404 2 %4 3] 2,680
“HES I 22(KY - LES)
372,100& 1204 & 4,466
FHOIS XIS 2BAA 242
164, 5002 *6 2 X[ *2IH 2 1,974
OANESSE ligd 232l 38l gis
445,500 x2 891
OAIZEZ HEAIE At=2eld] 59,993
ST ANLLE
686,350 *7 I A +4E X 19,218
HES 2TAN 242 38,2502 3%
Tsta AT 2BBA 248
167,500& x 150 2-+42] 10,050
KEa 2BAAN 228
462,500 x2& X|*3 1 A#23] 5,550
OIAHED SR 242
360,000& *7IH 2-+12] 2,520
-AF2EE HIISHEBAIE At=2el E013
At 3,188,000 7 2 22,316
OXUHDIZ AKX =58
32,0003 *200H 6,400
OUZHIIS(SAY d2HII=2 S) A=A
cl =8 170,000& 1002 17,000
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2A:
XNXH: TR
o e

=aak

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Od==ne £ MBHIIZ 902 24
= 270,000 +50& 13,500
02 S3=gHl 1,372,023 1,332,642 39,381
oggs gd=2)l =29 638
-REU(ER) 1,840 %238 £ 438
-=c|H| 200,000 1CH 200
O&FE+=XclE AFMAH EFE RA2c
900,000 900
O&s+Hels Mels 4FEZ WA
720,000 720
OZ4)] HAHE DA 360,00021 %204 720
OHB4XS )|, BE, fhase
=Al2teldl 5,400,000& 5,400
OE=J| =8 & FAl&clY|
1,800,000 1,800
OMNEBEZ EE SAALH(SE & =H
I 8) 1,800,000 1,800
Ot E e D] A2t el
289,800 *15E+300 1,304,100
OHPISHEAE =E0IS &9 28 7=
2e 940
ak- i 1,7403%6 £ ~42] x50 & 209
2= 1,840 %20 £ 42«50 2 736
OHVISHEAE R 2l 45,000
A2 A 15,000,000 15,000
-Sili=Ald Hdl 15,000,000& 15,000
-REYXFX FH 15,000,000 15,000
OHJISHEAE MAHHE S|
10,000,000 10,000
202 04dl 1,260 1,260
01 =LHNHI 1,260 1,260
OHDIS0HEAIE 21 2 =& UL
22l) 70,0002 x2H 0 1,260
206 M=l 16,228 16,228
01 MHZHI 16,228 16,228
OFEFXcE 28 4FY 4,366
-EHAtEtE 600 *4.6kg*3652 1,008
-STAHl 8,000 *0.2kg*365& 564
-2 K| 4,000 %1.4kg+365 2,044
-SzH 10,0003 +0.2kg*365&! 730
OFEFXCE AFLNE 268 7L
4,0002 x450kg 1,800
OstZ2cldt] HIISHEANE SEH 2
9,750 »600m’ 5,850
OEAIE 2gae AMAZ(A4SH) 7
53,0008 #2 £ *27S 2,862
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2A:

M HOI2 ASHEH/HIIZ)
Cel: HIISHe EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OHII=EE BE+ AMNE 2¥371Y
5,400 x250m* 1,350
207 ARl 60,000 95,000 /35,000
NEEEET 60,000 95,000 35,000
ONBER HIISHZAL FHaAds B
b E4H| 20,000,000 *3JH 2 60,000
308 AHXIHMSO0IA 85,000 85,000
12 JIEtRE=2 85,000 85,000
OHIIZ M2(42, 0HE) FHB(HALT)
85,000,000 %14 85,000
AHES 25 X 7,020 5,670 1,350
201 et23| 4,860 3,510 1,350
01 At22te|Hl 4,860 3,510 1,350
O=EUHHZES, OIEEL S 245 A
M= HE T == et S20AHI
8,000 x20H 0 1,440
O=ElIZ2S S J=S A+ 24
Bl 2,5002+408 102 1,000
O=EUZEE2=S S d=2s SdH= M
= 66,0002 *30H 1,980
O=EHEZEES 2d F4=3 78 440
- 2,50021*50H 125
P 3,000 *30H 0
e AL 22,5002+ 10H 225
202 04l 2,160 2,160
01 =LHA LI 2,160 2,160
OREWHLLE S 2T WA B222
=8 =L 04| 20,0003 x32 362 2,160
sl =HEd=2 A 95,000 80,000 15,000
= 19,000
= 19,000
Ea 57,000
301 EtE NS 95,000 80,000 15,000
= 19,000
= 19,000
= 57,000
14 IIEt2 83 95,000 80,000 15,000
OgsHUlE =H Hd=
1002 *950,000kg 95,000
= 19,000
= 19,000
= 57,000
HAXg sl 190,270 133,866 56,404
201 fer23| 190,270 133,866 56,404
02 S3=gHl 190,270 133,866 56,404
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2A:

M HOI2 ASHEH/HIIZ)
&2l HOIEXe (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Oty S 28 15,051
-HEs U 1,350, 0002 2CH 2,700
Al S 830, 7602 * 140K 11,631
=27 225,000 1CH 225
NP IbN; 495,000 1CH 495
OBAXEY BIWALLD
400, 0002 14022 11,200
OB AXE AHSIHAl 17,4603 140K 245
OFaxtgy s 2d2d 2=
1,840& +5,800 £ *14CH 149,408
O=z)| 2g2d RFU
1,84020%11 £ 100 2,024
OxE+ SUIY 2UBH S5
1,840 9 £ 130 +20H 4,306
OXAXt 22 RFU
1,840 10 £ 231 4,251
OFaXte S Al
28,6703 x140H*23] 803
O=23J1 & XX =cld
1,200,000& *14] 1,200
OFAXE IIE2HYBLIAAS(EPS) RAI2
cltl 16,5002 ~9CH = 1204 1,782
A 7Y 115,400 85,000 30,400
405 AHatE S 115,400 85,000 30,400
01 ML ESFSHI 115,400 85,000 30,400
Oo3Aaxted 7Y 81,000,000 1CH 81,000
OZAX He (L) 7Y
8,600,000 =4CH 34,400
SSetad 2 320 320 0
202 04| 320 320
01 =LHO LI 320 320
O=Sadd 82 23 g2 8 U0l
20,0003 =28 +8& 320
HolE Hees gdat 44,520 44,520
201 er2 3| 4,920 4,920
01 AtR2telHl 4,920 4,920
ONgEs 2=l 12
4,0002 180K 720
ONMEs8E Z2t0HH(500kg) &
2,700 *1,000HK 2,700
OHAEX =1 2H3E gt AHX 7Y
7502 +2,0000H 1,500
207 ARl 17,000 17,000
01 = 17,000 17,000
OBEZ AN +2 29
17,000,000 * 14! 17,000
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SN EPYOED
Zal: HOIS KRSHEA/HIS)

&2l HOIEXe (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 EtE NS 16,800 16,800
14 IIEt2 83 16,800 16,800
odil=d S o= X2
300,000 x28H »23] 16,800
405 AtatsE = 5,800 5,800
01 L ESFISHI 5,800 5,800
onNzges 2cl=Hu(&)+
290, 000& »20K 5,800
SalE Wl N 23 545,573 579,306 A33,733
201 el 1,468 1,468 0
01 At22t2lt] 1,468 1,468 0
OS4EF HII= M O121(RFID) RAI 2
cl 15,2002 +8CH = 1204 = 1,468
202 0o4dl 1,680 1,680
01 =LHNHI 1,680 1,680
OSMSHI| 25 2B 2L 28 2
(] 20,000 7L 1204 1,680
207 AR 20,000 20,000
01 H7ESHI 20,000 20,000
OSAI2R HII2 7 - 29 (BN B
b 29 0,000,000& *14] 10,000
OSA=F W= =828 2IRtE 89
10,000,000 * 14 10,000
307 @120l & 522,425 556,158 N33,733
05 git?(& = 522,425 556,158 A33,733
OSAE=F HYI=S 2298 Xlbl
202,500,000 *14] 202,500
OSAEF HII2 2UAAE =H 28|
319,925,000 x14] 319,925
dsHllE SSTOE &5 NFAY 65,000 0 65,000
= 19,500
& 9,100
= 36,400
401 Al HIZL 201 65,000 0 65,000
= 19,500
< 9,100
[Ea 36,400
01 Al&H| 65,000 0 65,000
OgsHII= SSTotE dA=SAY
5,000,000 1304 2~ 65,000
= 19,500
== 9,100
o 36,400
=cl0lE MelX# 1,372,379 1,294,720 77,659
s 686,190
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SN SALTATD
M HOI2 ASHEH/HIIZ)
Cel: HIISHe EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 137,238
s 548,951
402 QIF X201 & 1,372,379 1,294,720 77,659
= 686,190
== 137,238
[Ea 548,951
03 2IZHAEAIHHI 1,372,379 1,294,720 77,659
OLZSI0IE HMel XA
4,048,315& *3395 1,372,379
= 686,190
== 137,238
o 548,951
METR S| =HEH &X 2,684,000 1,728,000 956,000
= 167,000
= 2,517,000
401 Al HIZ 2018 2,684,000 1,728,000 956,000
= 167,000
Ea 2,517,000
01 AlZH| 2,042,000 1,573,000 469,000
OdE A ~HE EXIAY
2,042,000,000& *14] 2,042,000
= 102,700
s 1,939,300
02 2l 632,000 150,000 482,000
OME TS s=HIH XIAIY 2eld]
632,000,000 x 14 632,000
= 63,200
o 568,800
03 AIZ S THYI 10,000 5,000 5,000
QSR ~HE XA AIZFUSI
10,000,000& * 14! 10,000
= 1,100
[Ea 8,900
HOI2 HaEe g48H(EX) 150,000 51,000 99,000
= 75,000
= 75,000
401 AlEHIZ 2018 150,000 51,000 99,000
= 75,000
Ea 75,000
01 A28l 150,000 51,000 99,000
OMEssuIore 4X1 AFY
18,750,000 +8IH 2 150,000
= 75,000
o 75,000
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SN BRYBEED
M HOI2 ASHEH/HIIZ)
ool 0B X 22 (crel: g)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SH0IsHE =X 2el 6,990 6,900 0
S0 =XAIRA 23 6,990 6,900 0
201 er23| 2,700 2,610 0
01 At2teltl 2,700 2,610 0
OAHUWAEI| AL, &0 S Mz 2
135,000& * 12 1,620
OetZ0lstd S MdDI=AHE R SAEL O
gdEEH S 2zl 30,0002 *36& 1,080
202 04| 4,290 4,290
01 SLHoIH 4,290 4,290
Ostall=ta 522 & Ny S 99
=& = ol 20,0003 x2H » 18 720
Otdll=td dFAd =S8 S HRE9
S 92 8 IoHI(22)
70,0002 x5 7 2,450
OgtZ0lstd S M|l +=HESF SAHL A
=l S 40| 40,0003 28H 1,120
AT AE ¥ Al (8E /45T - =F) 4,159,182 16,560,746 12,401,564
= 756,000
S 1,426,000
= 1,977,182
SOE s+ e 1,357,000 2,488,571 A1,131,571
= 1,072,000
o 285,000
T2 SO0E HEES HLAS(HE) (HEAY) 1,143,000 428,571 714,429
= 903,000
o 240,000
401 Al HIZ S OHbI 1,143,000 428,571 714,429
s 903,000
s 240,000
01 AlZ8| 1,140,000 425,485 714,515
OZ= S0E dE3s+ e
1,140,000,000& * 11 2 1,140,000
< 900,630
s 239,370
03 Al 2 HHI 3,000 3,086 N8B
&= SOHE A8+ HEAME NERH
u 3,000,000 3,000
S 2,370
o 630
St SHEYEE S N ALY 214,000 0 214,000
< 169,000
= 45,000
401 AlEHIZL S0 214,000 0 214,000
= 169,000
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SN SALTATD
BB MLTAL U AL (HY/ABEE - £7)
Eel: SOE 428+ WY (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 45,000
01 AlIZHI 213,000 0 213,000
OBl S01Z Y284 N
213,000,000& *10H 2~ 213,000
S 168,270
T 44,730
03 Al&=Ch| 1,000 0 1,000
OBt S01E MBS HLAY ALR
! 1,000,000& 1,000
== 730
= 270
Agale=e =& 2 e 2,129,682 13,351,564 A11,221,882
= 756,000
[ia 1,373,682
Nttt =22 205 HE AL 170,000 205,000 /35,000
401 AIEHIZ SR 0HYI 170,000 205,000 /35,000
01 A<l 170,000 205,000 /35,000
OXIASE 213 HE AL
50,000,0002! 50,000
OM4+BI2 LHBAAREX S)0 BE O
E3A 4,000,000 *50H A 20,000
OATRS JtLAlE SX
20,000,000 %304 2~ 60,000
ONLAAE 442 2T BRTA
4,000,002+ 1004 2 40,000
Ngats=E A4 SSALY 80,000 993,064 913,064
401 AlEHIZ S 0HbI 80,000 450,000 A370,000
01 AlZH| 80,000 450,000 A370,000
OBB-H2 S2ZAL HSBAO TE A
22 0l 10,000,000 *8IH A 80,000
Kgat=E Al”otEete] 133,000 85,000 48,000
401 AIEHIZ SR HYI 133,000 85,000 48,000
01 A&l 133,000 85,000 48,000
O44+8 B529((SYS) BBHIINY
15,000,000 *1JH 2 15,000
OALBHAE HEABAF
1,500,0002 #1000 2 15,000
OBBIAT 242U DM
90,000,000 *1H 2~ 90,000
OMEWAT 2422 Bh
10,000, 0002+ 19H A 10,000
OM4+R2ETY BF L EXT 243M
150,000 *200H A 3,000
S LSds=E UM 912,000 5,664,000 A4,752,000
= 456,000
a 456,000
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TN 2 EYoE0
A A=Al Y Al2e|(8/ 4oL - +E)
e Ngd=E =2F 2 i (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
403 X SHHMSAH=01H 912,000 5,664,000 4,752,000
= 456,000
= 456,000
02 2|2 SUITHEHRH2 R S| ErANI | 912,000 5,664,000 4,752,000
OBE LMY FHIAL
912,000,000 912,000
= 456,000
s 456,000
SEZ Hs=2X MFAE XA 834,682 264,000 570,682
= 300,000
= 534,682
401 Al HIZL 01| 834,682 264,000 570,682
= 300,000
= 534,682
01 Al&H| 734,682 262,336 472,346
OBER HS4+2X HBAL ZXAL
234,682,000 234,682
OEZ Hs=3X MBAIE HXIA (2023
&) 500,000,000 500,000
2 250,000
2 250,000
o 22lHl 100,000 0 100,000
OBEB2 HS+aT HBAL SXAR 2
clbl 100,000,000 100,000
= 50,000
[Ea 50,000
Oieas= =X € 22 672,500 720,611 A48, 111
== 354,000
[Ea 318,500
Otsa=c S83 IASAMNY 19,600 20,000 2400
401 Al HIZL S 0HYI 19,600 20,000 A400
01 Al&HI 19,600 20,000 2400
Ollga+s 283 H48Y)
700,000 * 1404 A+23] 19,600
DiSasl SA4E 2 46,420 35,840 10,580
401 Al HIZ 201 46,420 36,840 10,580
01 A28l 46,420 35,840 10,580
= li=d=AIE Sl
7,500,000 *39H 2= 22,500
OARL =ZAIE ALEFH(F=AXED
s) 5,000,000 *40H 2= 20,000
Oll2dE & AR2FZAIE |22
NETPELIPN-E- T
70,0002 x 140 2 +43] 3,920
OiSats=l =2 ZA 19,480 21,200 A1,720
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TN 2 EYoE0
B ALCAS U ASBO|(BY/AGET - 23
Rl OEdsk =X & 2al EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 18,480 20,200 A1,720
01 At2teltl 18,480 20,200 A1,720
Oltsdsr 35 2N =22 18,480
-1 ZBAHEONER)
400,000 * 14 A+13] 5,600
-HIIBAH140HE =)
200,0003 x 140 2+32] 8,400
—=AIZ A 100,000 * 1474 2 1,400
LA SEBAHRIE)
50,0002 x 147 2:+23] 1,400
AT SEBAH(REE)
15,0003 * 1474 2=%22] 420
-T2 A 30,0003 * 147K 2=+32] 1,260
207 ARl 1,000 1,000
03 Alg 3 -2HI 1,000 1,000
OllSA+E A=otE nel|
2,000 *500kg 1,000
X7 A2 =EAE HEAIS (HEALY) 253,000 598,571 A345,571
== 177,000
o 76,000
401 AIEHIZ SR 0HYI 253,000 598,571 A345,571
< 177,000
T 76,000
01 Al&H| 251,200 594,800 A\343,600
O&=2Y BT A2 =ZAIE HEA
& 251,200,000& 251,200
= 175,740
[Ea 75,460
03 AIZSTHYI 1,800 3,771 A1,97M1
=28 N3N 22 =EAE JHEA
& AIZ 20 1,800,000 1,800
< 1,260
o 540
BT A2 =ZAE HEA 253,000 0 253,000
= 177,000
o 76,000
401 AlEHIZ S 0HYI 253,000 0 253,000
= 177,000
[Ea 76,000
01 A28l 251,200 0 251,200
Ol ZEX7 472 =2 AIE JHEA
jie 251,200,000 251,200
== 175,740
[Ea 75,460
03 Al 20HHI 1,800 0 1,800
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TN 2 EYoE0
A AT A Y A2e|(8F/ 4oL - +E)
el Oisds /A & 2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OuatH &I A2 +=EAE OHEA
2 AIE 20 1,800,000 1,800
= 1,260
Ea 540
Otsat+=X HIXl 81,000 45,000 36,000
401 Al HIZ S 0HHI 81,000 45,000 36,000
01 AlZ28| 81,000 45,000 36,000
OltSat=% XIoks= H3H|
5,000,000 %27 A 10,000
Ollga+E 293 2|
12,000,000 *37H 2~ 36,000
O=g8 2Ac|ds SN & AE2xY
3,500,000 *10IH £ 35,000
St 2l (88/a6keE - +=2) 22,897,890 30,444,710 AT,546,820
= 14,716,000
== 59,400
[Ea 8,122,490
ot=2t01 3ol 7,284,000 20,474,000 13,190,000
= 4,527,000
s 2,757,000
S8 S3ol==xel2S ol=2tH FHIAKY 1,889,000 3,749,000 1,860,000
= 1,091,000
= 798,000
401 AlEHIZ 2 0HbI 1,889,000 3,749,000 1,860,000
= 1,091,000
[Ea 798,000
01 A28l 1,634,000 3,061,900 1,427,900
Ogd S&otxcl74 o212 JHIAI
1,634,000,000& *14] 1,634,000
= 938,000
[Ea 696,000
02 Zeltl 250,000 677,100 A427,100
OE SEotrXel79 o2tz JHIAE
250,000,000 » 14 250,000
= 150,000
Ea 100,000
03 AlESTHYI 5,000 10,000 25,000
O8¥ SSoteilcl79 o222 IJHIAE
5,000,000 *14 5,000
= 3,000
Ea 2,000
Ol ot==2t)1 HHIAL(3XH) 50,000 11,320,000 A11,270,000
401 Al HIZL 01| 50,000 11,320,000 A11,270,000
01 Al&H| 50,000 10,506,000 10,456,000




2A:

ME: GIAC PO(HU/MAE - AE)
&2l ot=2t01 Hl (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OMll® si=2iz HoIA (3
50,000,000& » 14 50,000
&=, LI ole2t2 FHIAY 4,240,000 1,676,000 2,564,000
= 2,773,000
o 1,467,000
401 Al HIZ S 0HHI 4,240,000 1,676,000 2,564,000
= 2,773,000
o 1,467,000
01 Al&HI 3,559,059 1,330,000 2,229,059
OZE, LIkt ot=2t2 ZHIAY
3,559,059,000& *14] 3,559,059
= 2,328,300
= 1,230,759
02 Zeltl 675,941 340,000 335,941
&=, LI ole2tE FHIAIY
675,941,000& 14! 675,941
= 441,700
s 234,241
03 Al 20HHI 5,000 6,000 A1,000
OZE, LIkt ot=2t2 ZHIAY
5,000,000 * 14 5,000
= 3,000
= 2,000
8 Z3ot=Hel7Y S22 FHIAY (211) 1,105,000 2,735,000 1,630,000
= 663,000
s 442,000
401 AIEHIZ SR THYI 1,105,000 2,735,000 1,630,000
= 663,000
[Ea 442,000
01 Al&H| 1,100,000 2,026,300 A926,300
OE SEotrXicl24 o242 JHIAE
(2xt) 1,100,000,000& * 14 1,100,000
= 660,000
= 440,000
03 AIZSTHYI 5,000 8,700 A3,700
O8d S&otxc|74 o2 3 A
(2x+) 5,000,000& *14] 5,000
= 3,000
o 2,000
OtSot== &Hl 793,000 6,483,240 A\5,695,240
= 458,000
s 59,400
s 275,600
ST s E OtSot=k ZHIAIE 150,000 1,404,080 1,254,080




FA EFyoteT
B Sl Bol(BY/AGIAT - 23
Chel: OFSot=% ZHI EER=E)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
401 Al HIZL 2018 150,000 1,404,080 1,254,080
01 Al&H| 150,000 1,164,366 /1,014,366
OZNT S0E DIS54E HHIAIL
150,000,000 150,000
=27 sHE OtSot=X ZHIAIE 251,000 1,586,120 21,335,120
= 223,000
= 28,000
401 AIEHIZ SR OHYI 251,000 1,586,120 A1,335,120
= 223,000
= 28,000
01 A&l 250,000 1,331,320 /1,081,320
OZLXT SOIE DIS54E ZUIA(S
&) 250,000,000& x14] 250,000
= 222,400
S 27,600
03 Al 2 THHI 1,000 4,800 23,800
OFEXT S0IE 0I25H4+E HHIAIRI(E
&) 1,000,000 *14] 1,000
= 600
= 400
Hs8 472 S3ote=HMelAld SHE SHIAY 392,000 200,000 192,000
= 235,000
== 31,400
[ia 125,600
401 AIEHIZ SR 0HYI 392,000 200,000 192,000
= 235,000
= 31,400
o 125,600
01 AlZHI 290,000 200,000 90,000
OUIEY 472 BBs=HIAL SHE
ZHIAY 290,000,000& *14] 290,000
= 185,000
T 105,000
02 Zeltl 100,000 0 100,000
OUsSH A2 SEot-XcAE SHE
BIA 100,000,000 x 14! 100,000
= 50,000
< 30,000
s 20,000
03 A2 THYI 2,000 0 2,000
OUsH A2 S3ot=XclAlE SHE
ZHIA 2,000,000 %14 2,000
= 1,400
o 600
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SN BRYBEED
3 o=k 2el(8d/doteE - +E)
=Rl TAIES HSAE (Cre|: ®M2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
CAEs HHSA 14,219,000 2,871,000 11,348,000
= 9,731,000
= 4,488,000
SEE ol SE2C JHIAY 6,479,000 1,578,000 4,901,000
= 4,533,000
[Ea 1,946,000
401 Al HIZ S OHbI 6,479,000 1,578,000 4,901,000
= 4,533,000
s 1,946,000
01 AlZ8| 6,474,000 1,573,000 4,901,000
OgdEs o=k S82cl SHIAY
6,474,000,000& x14] 6,474,000
= 4,530,000
s 1,944,000
03 Al 2 0HHI 5,000 5,000 0
Ogds o=k S8&c IJHIAY
5,000,000& *14] 5,000
= 3,000
o 2,000
St ol SE22 A 4,329,000 578,000 3,751,000
= 3,030,000
T 1,299,000
401 AlEHIZL S0 4,329,000 578,000 3,751,000
= 3,030,000
= 1,299,000
01 Al&H| 3,725,000 578,000 3,147,000
Ostud ot SE2 A
3,725,000,000& * 14 3,725,000
= 2,700,000
o 1,025,000
02 2/l 600,000 0 600,000
O=tud ol S8l A
600,000,000& *x14] 600,000
= 330,000
= 270,000
03 AIE 1| 4,000 0 4,000
08P sl4aE ZH2E FHIAL
4,000,000 *14] 4,000
ZHOtH ot SE2C| JHIAY 2,383,000 715,000 1,668,000
= 1,668,000
[Ea 715,000
401 A2 HIRL 201 2,383,000 715,000 1,668,000
= 1,668,000
s 715,000
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TN 2 Yo
B Sl Bol(BA/AGIAT - 23
=Rl TAIES HSAE (Cre|: ®M2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 Al&HI 1,880,000 615,000 1,265,000
OZ0tH ol S&2c| A
1,880,000,000& » 14 1,880,000
= 1,365,000
Ea 515,000
02 Zeltl 500,000 100,000 400,000
OZ0tH dt== SH2c| JHIAE
500,000,000& *14] 500,000
= 300,000
T 200,000
03 A2 THYI 3,000 0 3,000
OZ0tH otk S&2c| A
3,000,000& %14 3,000
= 3,000
s ot SH2c| HHIALY 1,028,000 0 1,028,000
= 500,000
o 528,000
401 A& HIX R0 1,028,000 0 1,028,000
= 500,000
o 528,000
01 A28l 825,000 0 825,000
OUsH dt== SIS FHIA
825,000,000 *14] 825,000
= 400,000
[Ea 425,000
02 Zeld| 200,000 0 200,000
OUsY o=t SN A
200,000,000 » 14 200,000
= 100,000
Ea 100,000
03 AlESTHYI 3,000 0 3,000
OUsH dt== SIS FHIAS
3,000,000& *14] 3,000
3ot |A2cl & FH 601,890 611,470 29,580
23ot=S FAI22l(XHA) 601,890 611,470 29,580
201 er23 | 6,000 5,800 200
01 At2teltl 3,000 3,000 0
OL72 St=EAg =N =g
500,000 62 3,000
02 S3=gHl 3,000 2,800 200
Ogt= oot 8al Hall|
3,000,000& 3,000
202 04| 1,890 1,890
01 =LHO LI 1,890 1,890




2A:

h: Sla Mol (/ST - 2E)
&: B30k ®X2el & FY| (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Oot=ER 39, u=, MOILt & 2UN
ol (2:2)) 70,00021+324+02 1,890
401 AlEHIZ S 0HbI 594,000 603,780 9,780
01 AlZH| 590,000 600,000 10,000
033 % Ulsotek 28244
4,000,000 *30IH £ 120,000
OS4ME AI22H|
2,000,000 *100H 2~ 20,000
Odt==2t2 F4Ar|
2,000, 000:& *25km 50,000
OsSHAMA 2201 4 & IH|
5,000,000 *9IH 2= 45,000
O=2g+R=Y ol=2Z2 TAF & 24|
20,000,000 *20H 2~ 40,000
O4A2 Ot=st=XclAld ol
10,000,000 *40H 2= 40,000
Odt=x NEE SHES
5,000,000 * 14 5,000
OSEZ =23 sasEtd 89
20,000,000& * 14| 20,000
020234 SEZ ot=22 Jlsdd 89
150,000,000 *14] 150,000
O=E24sH SE~HE 2422 0183 AH2
xt) 100,000,000 * 14! 100,000
03 Al 20HHI 4,000 3,780 220
O8&ot=E RA2ACIAIE AL
4,000,00021 14! 4,000
2 - H=Xo(8F/4ot=E - =) 3,342,904 3,146,293 196,611
SHIIZANE 2 3,342,904 3,146,293 196,611
=H - 2, of=xcld 2g2c 647,245 471,545 175,700
201 2= 291,341 233,211 58,130
01 At22t2l] 28,530 41,210 212,680
Odt==2 AN === 100,000 *42] 400
Otts, IE2s gsclkl 42HA &=+
= 3,600,000 +27H 2~ 7,200
OAlEgF A2l gF == ?et S20HA
af 8,000 10+ 12043 960
ORIISEH S28A ==
500,000 <22 1,000
OAZOIHBR| (e42E
560,000 * 12 6,720
OFI|HRBR| (422
700,000 * 122 8,400
OXB HIR S 7Y 25,0002 142 350
OFHZ2=AZ2U M=
1,000,000 *1CH 1,000




2A: aot=E 1t
B Q- MM (BY/AHEE - +T)
e JIEANE 28 (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OZHIOIO(EE OIRER 4oz
100,000 & *5CH 500
OBIIYS)| HHBY 242
500,000 #4CH 2,000
02 32| 262,811 192,001 70,810
Odt=HMel EAKIAL] SX22](etE2te]) 16,500
-ot=RY, &E, EAMRE HOIE
1,000,000 *4CH 4,000
A5, MsA38 & HED|
2,200,000 *4CH*75% 6,600
—-S&SXcl 2 500,000 *3CH 1,500
-S&EXe SIHYAIEHE)
500,000 & *1J4 500
—ZAF Q128D & BHED)|
700,000 *3CH 2,100
AKX &85 1,800,000 *14] 1,800
OdteHel RYBIZLH| sl (erdat
cl) 2,800
-SQEI(3, 4001 S 28)
700,000 #4CH 2,800
Odl=Hel AtstAH] SAI22Idl (et 2te|
) 22,400
“APSRIEDPD|/ESEH D]
800,000 *27|*4 % 6,400
—=ZA (1) 700,000 *2CH*4 2= 5,600
-SdAl Qg T 350,000 *8CH 2,800
-t 2RH VERE 2
10,0003 * 12074 1,200
AR 2RH ZE(2501)Y 2ED] 52
500,000 +8CH*70% 2,800
A3 220 oIHE X
1,200,000 *3CH 3,600
Odl=Hel EXelAlE KAl (etE e
) 25,880
“RHMEFISEX 300,000 *1CH 300
-2I|1g=D| 700,000 *3CH*43 8,400
- B I (22kW, 300t=)
1,800,000 *3CH*70% 3,780
~HICIOH( O kAF) 1,000,000 *7 .5t 7,500
-BoXels+X NEEY
1,500,000 *32] 4,500
—UBHHEHD 700,000 #2CH 1,400
OdtexHel ZSEXMXEH g2 (erE 2
cl) 7,900
=Xl =&D| 500,000 +2CH 1,000
-ZHIOIH 212 SOIAE
1,500,000 *2CH 3,000
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A SBaot=E1t
Hu: @ - HAH(H/YOAE - 2F)
& BFIIZANE 29 (CH9): &S
- _ S[E]
SN - - G(BH) - NRAY - BES o &k ce= HimE=T

Ofl &k2h

“0HMAI| X2t
“0NHMAD| Ecd 7

450,000 2CH

1,500,000 +2CH
OXIGIRER(5t2) B =
180, 000 *16CH*70%
OzZEEX 24X 01sEZ X2l
~BHES 2R OIS T I (11kW)
2,500,000 *2CH
QIS K OlSE I (2.2kW)
1,500, 0002 *2CH
ObteHel 22224l SXRe/d(erE
2l)

-HIEa 33,

cC

[Ee=E=:
350, 00024 #6LH
750,000& «1CH

=R A= T=F PN 500,000 *1CH

Odt=HMel sESX4H S22l (&2l
)

-=i Xl =& 300, 000& *2CH
== 1,000,000 *1CH
-sdilelgEo 1,000,000 *2CH

Odt=Hel €4 sXlzel(erdael)

(= PARPS =Ml 500,000 *1CH
-selll N X 282

550,000 *1CH

1,000,000 *2CH

um
e
4
T
i
o
o

OIAE el
500,000 *1CH

500,000 2CH

80,0003 »45t x2CH

OJIERL SYS o HNRATAY R

el L))
&2 42 1,250,000 #4CH
~£2)| WE 79 13,5002 %23/ 204
HARAIT AZOIA 550, 0002147CH
HERD, BEHZI0S, BHD

160, 00024 +20CH
~OHANRIAITE £Z0IA QIR XIXICHRA

1,500,000 6CH

OJIEeL 244l |ARAel(eta2te])
—SEBIS X Do) 600, 00024 <2CH
-SEN 32 ¥EZ 100,000 <2CH
_SXIHI2X XX XIHIL

SuHCSE, oo =

300, 0003 +8CH

900

3,000

2,016
8,000

5,000

3,000

3,350

2,100
750
500

3,600
600
1,000
2,000
11,750
500

550

2,000

500
1,000

7,200

21,390
5,000
540
3,850

3,000

9,000
14,450
1,200
200

2,400




SN BRATHEED
Hu: @ - HaHel(SY/AGHEE - +F)
Cel: SHIIEAE 29 (e A
- = -i[l_j
SN - B - SRASH) - MRA - BAES ol &t e HIDSZ

-=ci Xl 24101
==

~OIHE P

25,0002 *20H* 1571 &
Xl2teldl(era 2

Ok Fes E M2 R

2l)

-NRZx BD

-MEX A2 2 XIXICE X
OXlolasREIZ SXj2elg(etE2te])

-AEX BT

-2423HZ

-BH2NE B D

180,000 +6LH*70%
Ottt JIEER , 25 HE4H |2
|

Z W EHI(500m0I5t S 3F)

= 4

B!
>4 ol

= B o
=

o

5oy

=

0 =

P

m oo

]

B
0
IV

o

il

N
F;
P

o 40 H0
0d Z
x

O
I
4
X
i
nx

N
o
%o
£
g

150,000 *41t = 1CH

0] HFI| |22l (ot t5E5R)

500, 0002 *2CH

500,000 *1CH
500,000 *4CH
300,000 »1CH
100, 000-& +2CH

500,000 *1JH 2

[ul il }

500, 000 *2CH

300, 000& *2CH
300, 000& *2CH
300,000 *2CH

700,000 *10CH

100, 000-& +2CH
100,000 *10CH
500,000 4CH
100,000 *4CH
1,000,000& *1CH
1,000,000 *1CH

700,000 *3CH

3,500,000 *1CH

750,000 *1CH
4,500,000 *1CH

2,800,000 *1CH

50,0003 *357H A

1,000

500
2,000
300
200
6,150

500

750

5,000
1,000

4,000
2,556
600
600
600

756
12,600

7,000

200
1,000
2,000

400
1,000
1,000

16,650
2,100
3,000
3,500

750
4,500

2,800
15,750

1,750
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SN BBMGECD
B @ - HAHR|(BY/MOEE - £F)
=aak JIZ=ANE 28 (e A
LA BRAE) - RN - BAS of v e HIDE2
EAEEZ +5HD
300,000 #3504 A 10,500
-MOFEH 200,000 %1094 2 2,000
-REA(RY, 52, ¥R) nF
500,000 +3CH 1,500
O=gEa 2 HI|&H RX2cl(tA2e]) 27,855
- 100,000 *40CH*50f% 2,000
-LED ASF L (=Z200) 15,0002 250K 375
-HES & & 1,000,000 *1CH 1,000
-P.L.C&HI 1,000,000 404 2 4,000
SHHHABIIX
500,000 x22|*5CH 5,000
~CVIHI0I = (2.50+2C) 1,500 *300m 450
~CV31 01 = (6.0500+4C) 2,50024+300m 750
-UPS SR (SLHO) 200AH-12V
220,000& x24 74 5,280
-ot=Xcel AlE &JIZ8| |Xl2el 4,950
- MXEEI1(10kw, kv S 58)
65,0002 *30H 1,950
- BHE EXHEED1(64B/600,204B/225 € 38)
100, 00023001 3,000
ObERE, 2adel AL ®I| Ml |X
e 4,050
- ATHFEIN (S, 1K S 43)
35,0002 *30CH 1,050
bH & & XHEFD1(404B/400, 1038/100 &)
100,000 +30CH 3,000
OAH=EY & sk2e 1,514
-F YW Y 30,0003 574 A +42] 600
M2 45,7003 50 2= %42 914
Oagal &Hl |l 6,000
-AE | |2 60,0002 *305 1,800
-S&= 2H 100,000& * 12 1,200
-AE&H WE 3,000,000& %12 3,000
OS2Hoa sX2eldi(erdate]) 30,400
-NHE ZREH 500,000 ~5CH 2,500
- ADHHICE ZRE 560,000 8CH 4,400
OR & MOi&HI 800,000 +4CH 3,200
-CCTVIthIet & M2 S0
700,000 *12CH 8,400
-PLCEHI FAl2cl 700,000& 12902 8,400
-AsSHA 2208 |R2
3,500,000 *14] 3,500
Oag & fI8= otd 2| galdl, w=sH|
100,000 *23] 200




SN BBMGECD
B @ - HAHR|(BY/MOEE - £F)
Cel: SHIIEAE 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OAg4d| FAl2cltl
1,500,000 #2002 3,000
OAZU =Al2tell 500,000+ 1CH 500
202 04| 3,760 3,790 A30
01 2LHA b 3,760 3,790 A30
OBZAIIZAE B 22 3IS U2 23
2o (22]) 70,0002 x2H #43] 560
OBt +H2AN AIBQAE 212 48 2y
HI(22l) 50,0002 x2H+43] 400
A% Y YES OB DS YD4H 2
LHo1HI (22l 50,0002 x22 43| 400
OER2LHel ¢ =8 24 ol
10,0002 102]* 1204 = 1,200
Ot 2 5250 2d g2 =g 3N
HI(2+2l) 10,0003 %102/« 120 & 1,200
207 ARl 147,740 111,240 36,500
03 Al 2HI 147,740 111,240 36,500
OIEER, 2= AFMA 4357
3,000& 1, 700L 5,100
OagAzEdl (a2 2 263)
200,000 %255 5,000
O23&:H =3NS 6,240
-T-N AlSf 200,000 %122 2,400
TP AlSf 160,000& #2432 3,840
OdtrrelAZ L (RIISEHM 20 35)
500,000& *42] 2,000
OaEIIN & A28 7Y (RZMH+E &
OxNgR s 738) 200,000 +7& 1,400
O=dil g5 7 128,000
-ot=, JIEE R Mel8 02X ST
3,100,000& 20t 62,000
-IEEE XMelE RIISEH
220,000 *300t 66,000
307 el2to| & 80,004 80,004
05 212t =S 80,004 80,004
Oogdgssots =& A 25
6,667,000 * 1204 & 80,004
308 AHXIHMSO0IA 5,000 5,000
12 JIEtRE=2 5,000 5,000
YRS HE 0¥ P (JUURAS
&) 5,000,000& 12l 5,000
401 Al HIZ 2018 119,400 38,300 81,100
01 Al&H| 119,400 38,300 81,100
Osggd=s XMl 2=+ 50,000
-JiEER 88= Ml 2+
25,000,000 = 1CH 25,000

_39_




SN BRATHEED
Hu: @ - HaHel(SY/AGHEE - +F)
oelr B EIIZAE 28 EER=E)
2 - IE!
SN - B - SRASH) - MRA - BAES ol &t e HIDSZ
2 B2 Mol 24
25,000,000 1CH 25,000
OUARAE ATLY 24 30,000
AT (HBHH &)
5,000,000 *37H 2= 15,000
—aXad Mog 2
15,000,000 »1&4 15,000
ONE2L 2HFEAY FY
10,000, 0002 +2CH 20,000
Obtett =S A CIBIE &XI(7.5kW)
1,800,000 «8LH 14,400
Ottels gd=2Xl OlsHi2 &R
100, 0002 *50m 5,000
AL 28 2 891,411 783,720 137,691
101 124H| 9,69% 7,044 2,652
MU IIRIMZZENSES 9,6% 7,044 2,652
OstBIIZAIE H=HY 9,696
e rals] 192,0002 x4 *4 2 +33] 9,216
-28= 10,0002 #4H*4 2«33 480
201 Let=dh] 864,019 719,476 144,543
01 At2teltl 16,136 11,916 4,220
OdII=AIE 2dls d=)| S dEs 2,676
-g=)| HER 25,0002 =34~ 1204 900
-Hid gz 18,0002 ~6CH* 1204 1,296
-=J1880| dlgd|
40,000 *1CH* 1290 2 480
OFIIZAIE MRH 28 225 7Y 3,200
—ZetIglE JtECIX 250,000 43 1,000
-dIOIZ2IE JtELIX
250,000 432 1,000
—SALEX 25,0003 »48F A+ 1200 2 1,200
OZIIZANE 2E ARF(HAEE 8) 2
= 500,000 <22 1,000
OBIIZANE 2E ALS(AMBE 8) 2
=t 250,000 *4= | 1,000
OxdSHAE, ezt S 22|
50,0002 =22 12042 1,200
Ott==, t=2aXelAe 2E22A &Y=
e 250,000 8 2,000
Odl= , IIE2=XCIAE 2S22A tEst
- 150,000 8% 1,200
Odt= =2 2AE SRH2Z2T &Y
= 7Y 250,000 +6¥ 1,500
Ot IIE2aXclAE SRHZ2 A oHd
3t 2E 150,000 6 900
OAlgzgac gF-8= e S20A
8,0002 108+ 12042 960
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SN BHNBED
BE: @ - MM (BY/MBAE - 27)
& BFIIZANE 29 (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
S EEEER T EEEET
500,0002113] 500
02 2B2H| 847,889 707,560 140,323
ORY SN2+ (2ES)
1,000,0002+13] 1,000
OBAIIZAIL AL SXZL 5,000
AES oy 5,000,0002 13| 5,000
oz el 6,800
N2 50,0002 %2CH 100
KIS A 30,0002 %20 60
L] 500, 00024 %2CH 1,000
-REH(FR) 1,84024+1,500 £ *2CH 5,520
SRR L 60,00021%2CH 120
OZ2AN 2urxier 22l (204) 12,460
N2 50,0002 %2CH 100
L] 60,0002 2Lk 1,200
-REH(ZR) 1,84024+3,000 £ #2CH 11,040
S EPE e 60,0002/+23] 120
02|20 22l(FL08716%P) 1,822
-SEUH(ER) 1,84024%800 £ *1CH 1.472
L] 350,002 14 350
ORCIZ0l L SHEI| BRIz 905
~o12HI(312R) 174024430 4 2CH 105
i % OJIE SN
160, 00021 x2CH+23] 600
~01%0| & 72 50,0001 %2CH+23] 200
OBAIIZAIL A2 SN B2l 14,000
—zols 1,250,002 42| 5,000
~EAHIS 500, 00021 x4 2,000
—240lS 1,250,0002 42| 5,000
~Zolxi2la 100, 00021 #42 | 400
OlEEL SUs 250,000 *42) 1,000
OiE2L @Y 160,000 #42 ) 600
Ou4z 23 5,00021+122) 60
OALYE SUB(3HL)
38,0002 122 456
omIIR3 739,800
~BEGH4HRIE ®I123 (750
28,500,002 122! 342,000
~SEEAHRIE SHNBIT IR (3N
) 100,000 *330H A+ 12 39,600
254 H2IE @123 (165k)
2,500,002 122 20,000
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SA BHASIAZD
A Q- HAML(BY/MGAT - H)
& BFIIZANE 29 (CH9: &S1)
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
“EEGAMCY SHEDY M2 (11
&) 10,0002 % 11 Ax 122l 13,200
-LIASE =21 & &2 (150kw)
1,500,008 % 122 18,000
-LIAGHEXEI A SHEITE M) (140
&) 100,000 1474 A * 1224 16,800
KM RIE ®I| 2 2 (300kw)
7,500,000 % 122 90,000
_HESAREIE SHETE FI|22 (38
2) 100,000 ¥387 A * 1224 45,600
_DISstAREIE MIIQ2(BHL)
250, 0002 %3574 A+ 1224 105,000
OISR SHEIY X232 (660
2) 50,0002 <657 A+ 122 39,600
OEMR2 65,580
SBEGIAEIE 10TRAS)|
30, 00021%257 A+ 122 9,000
_SEol AN OHWSH AlEE
30, 00021+ 1874 A+ 122 6,480
—AESATHEE (TRAS)|
40,0002 1274 A * 122 5,760
_E2o AR OHYSM AEE
05, 0002 %27 A 122 600
ISR RIE 10TR A SR
35, 000270 A% 122 2,040
“LHBIAHRIE OIEUWEIN AlEE
35, 0002 %201 A 122 840
“HESHAEIE 10TRA )|
30,00020%317) A+ 122 11,160
—HEE MR OIHWSH AlEE
35, 0002 #47} A x 122 1,680
OISR 10TRAE)
30,0002 %57 A+ 122 20,520
OISeta M E OIHUYSIH AlEE
50, 00021+ 117§ A+ 122 6,600
401 AEBI LS| 17,69 27,200 9,504
01 Al 17,69 27,200 19,504
OXY UMB(BE, 22, LA sHEsta R el
=) 500, 00021 %43 2,000
OBZIIZAIL AR 22p2 15,69
CERI|EAE U A2 HAEE
192, 0002 ¥2 ¥35] %224 2,304
_HZIIFAE QR A2 FANE
192, 00021 %22 %33 +22 2,304
SERDAEHEAIL £2 BIEEY
192, 0002 42 ¥33] ¥304 A 432 10,368
MY 2z
10,0002 ¥25 33| #4 7 A +32 720
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SN BBMGECD

BE: @ - MM (BY/MBAE - 27)

& BFIIZANE 29 (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Sl X(HoI8) Mel 409,740 329,300 80,440

201 er23 | 409,100 328,600 80,500
2 35234l 409,100 328,600 80,500
Ottz=, H=E2h, EasclXl Ml
115,00024+3,500t 402,500
Ottt =2 e, 8 HIIS(RIIE2U)H
clbl 220,000& %30t 6,600
202 04| 640 700 260
01 =LHOAH] 640 700 260
Odt tE2E 2asclll XMl usE4
:‘LH():IHHJE*E?J) 40,0003 x2E *42] 320
OZ2AX 42 22 LR 28 20
22l) 40,0002 x2H *43] 320
+=ZS 28 2cl 124,720 259,720 /135,000
201 et 3| 94,520 94,520 0
01 AtR2tc|bI 11,600 11,600 0
O+EMS 428 7o)
200,0003 x9S +200 2 3,600
O==&MS HZI1D| EESAM =2
4,000,000 *20H 2= 8,000
02 S3=gl 82,920 82,920 0
O=& M |A&e| SH(erd2el)
1,855,000 #1200 Z »20H A& 44,520
OHSEH 4l ¥ WAl Sx(2d2e]) 17,000
-TOC HI=JI 1,800,000 #2042~ 3,600
-N/TP HI=DI 1,800,000 *20H A 3,600
PH A= 500,000 *40H A 2,000
-SS AlA 3,000,000 +2JH 2= 6,000
-==MIEX 2 900,000 #2042 1,800
ORYE HIABSHX SXE=(H22)
300,000 *20H A 600
ORYBE SAE(2E2e)
200,000 *20H A 400
O=ZMS 4iHZ=tz AIE 83 il
400,000 x05*20H 2 7,200
O=ZMs FEZA HEHEA =5
6,000,000 +27H 2= 12,000
O==ZAMS HE=HA O AHEEZ ==clt]
600,000 *20H A 1,200
202 04| 2,000 2,000
01 =LHO LI 2,000 2,000
O+ENS PDBO| U BT S PR4w 2
G1a] 20,0003 x4 & 25 2,000
207 ARl 28,200 28,200
03 Al -2HI 28,200 28,200




TN 2EYoE
B @ - HAHR|(BY/MOEE - £F)
ool SZII=AE 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
oT0C HZD| %2 7
475,000 * 12«20 2 11,400
OW/TP HASI| 45 7L
700,0003 x 12 200 A 16,800
E=oteXeld =Al2el 136,746 130,901 5,845
201 2= 37,116 31,97 5,145
01 At22t2lt] 4,740 5,740 A1,000
OAYEH L AUHUEA LA 248
600,000 *1CH*13 600
OdJItE eI =2
155,000 x1CH* 123 1,860
OROIAYIAIAE B
190,000 *1CH* 123 2,280
2 352484l 32,376 26,231 6.145
Od==AlZc 1,564
-BESx ® AES 1,064,000 1,064
“HAAE  RELIX 500,000 500
OREXEX X2l (erdze]) 5,500
-REYXFX &=L 2,000,000& 2,000
-RYEO 1,500,000& 1,500
-REXLIT W 2,000,000& 2,000
OBte=x &H| sXzel(erdael) 3,900
-HEX RY, RE ASEE
1,000,000 1,000
—=SXI|J| 400,000 400
-=SEIDIE 30| 1,000,000 1,000
0I5 sdX 8= 500,000 500
-l ey, X8 dseE
500,000 500
-HEX Mg R 500,000 500
OXteld A=4H| |Azebl(ed2e]) 1,900
-A2ld B 900,000 900
-#I OHED| WAl 900,000& 900
-opeHel F X2l 100,000 100
Odt=ZHEZE sA2el(td2el) 3,220
SHEZY =4 2 Fa
1,870,000& 1,870
-SHELY =SBXZ 22| & A
750,000 750
-Wop B f X2t 600,000 600
OA=LH| |A2el(erd2el) 8,000
—HESESE MSS dA 4,500,000 4,500
-ES0=AA HA 3,500,000& 3,500
O=HEa 9 HI|8H RX2cl(AtA2e]) 7,292
-&o|ed 500,000 500
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TN 2EYoE
B @ - HAHR|(BY/MOEE - £F)
& BFIIZANE 29 (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—2FF HAK 500,000 500
~EFT U (12V/200M S 2F)
3,432,000& 3,432
-LEDS 2 J1(50W) 750,000& 750
-0V 20IE (2.50+2C) 450,000 450
-HTESI| (3K S 48) 540,000 540
-HHEZ XD (648/600 2A3S)
1,120,000& 1,120
OZAIItbet & RAIE% 1,000,000& 1,000
207 AR 6,200 5,500 700
03 Al 328 6.200 5,500 700
o2& =8As 4,200
-T-N AlSf 2,400,000 *18f A 2,400
-T-P AlSf 1,800,000 x18f A 1,800
O=xcl 3 7¢ 1,000,000 x18f A 1,000
OZQIXZINE AETY
1,000,000 18 A 1,000
307 elzto| & 90,430 90,430
05 21t =S 90,430 90,430
OZEot=xcld 2elliat]
90,430,000 90,430
308 AtXIEHMSOIE 3,000 3,000
12 JIEtREgs 3,000 3,000
OgEa BX 08 Y3 (SB[ HE
) 3,000,000 ~10I& 3,000
Liatot=Xel& sXl2e 172,912 170,297 2,615
201 er23| 51,722 48,847 2,875
01 Al 22| 4,740 4,740 0
OAgaY L AUHUNA AN 242
600,000 *1CH*13] 600
ORIIQHUS 442
155,000 *1CH* 123 1,860
ORQUBHIAIAE S|
190,000 *1CH* 123 2,280
2 52434l 46,982 44,107 2,875
Od==Al2c 4,912
-HEX H UHES 3,456,000& 3,45
“EMAIE R REXIEX 1,456,000& 1,456
OFEXEX sA2el(erd2e]) 4,700
-REYXIX =4 2,000,000& 2,000
“SUEZ(11kw) 1,500,000 1,500
—REXLIT W 1,200,000 1,200
Ogtex #H| sXzel(erdael) 8,400




SN BALTAED
BE: @ - MM (BY/MBAE - 27)
& BFIIZANE 29 (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ISE 29, R AsSUY
1,000,000& 1,000
=S I[I1(3.7kw) 2,400,000 2,400
-=SRID18 &371(18.5kw)
2,000,000 2,000
-01& scXgs 1,000,000& 1,000
-=diAl g, X8 dsdE
1,500,000 1,500
-BtS MOt 500,000& 500
OXteld A=4H| |AZeldl(erd2e]) 2,000
-Aeld ST 1,000,000 1,000
-8 orEIl wH 500,000 500
-MopEH&t 500,000 500
Odt+=S3AHEZE |X2el(etd2e) 4,430
-SHERY =4, 4 2,380,000 2,380
-SHELY SSEI 22|, 3L
1,050,000& 1,050
-MopEH&t 1,000,000& 1,000
OSZHN &8 R+ 1,800,000& 1,800
OsAHEDE sAlZel(ALAAX)
1,000,000 1,000
OHEEH |FXNE= 12,990
-STYSE LEIHED] 2,750,000& 2,750
-Z S == A (LT-200) 2,520,000& 2,520
-SEESE MSS dlA 4,320,000 4,320
-STEESE 00 dA 3,400,000& 3,400
O=gEa 2 HI|&H sX2cl(tAae]) 6,450
“&ojed 500,000& 500
- MEEA 500,000& 500
=TI 2 (12V/100AH) 2,000,000& 2,000
-LED I (25W) 750,000 750
-HTESI(30kw S 43) 600,000 600
- SXHED1(64B/600, 204B/225 S 3F)
2,100,000& 2,100
OZAlIZtlet & R+ 300,000 300
202 04l 1,440 1,700 A260
01 =LHAHI 1,440 1,700 A260
OxtdaH HeEzd & =2l 015 E2+
2 LI
20,0003 2 +x3 12| x 123 1,440
207 ARl 14,700 14,700
03 AlZ &=t 14,700 14,700
O2ZEEH SN 4,200
-T-N Alef 200,000& » 122} A 2,400
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SN BALTAED
B @ - HAHR|(BY/MOEE - £F)
ool SZII=AE 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
-T-P Alef 150,0003 * 122 A 1,800
O=xcl %43 + 1,000,000 x12f A 1,000
OS2XIAIE S5+ 9,500
-2k 2 500,000 » 122 A 6,000
—PAC 500,000 78 A 3,500
307 elzto| & 101,050 101,050
05 212t =S 101,050 101,050
OLtarot=x el 22l Tl
101,050,000 101,050
308 AFARIEHMSOIE 4,000 4,000
12 JIEtREgs 4,000 4,000
OgEs BX 08 Y3 (SB[ HE
) 4,000,000 *1HI& 4,000
oHEot=xeld RAl2el 634,112 676,673 A42,561
201 er23| 61,955 54,978 6,977
01 At2tltl 3,200 3,200 0
OAgEl B L AUFUFY TA ==
= 800,000 *1CH*12] 800
OXJ|etEae] e =5
200,000 «1CH* 122 2,400
02 35244l 58,755 51,778 6,977
o242 A2 500
-EEI(1.5w) 2 28 500,000 500
OFAX SAl2el(erd2te]) 2,500
By-Pass =& 1,000,000& 1,000
-SYHESYE(1.5w) 1,500,000& 1,500
OgHA EEE L FAMINI sX2al(e
dzel) 3,800
-SE71(1.5w) 1,800,000 1,800
“SHESHAY 500,000& 500
00|13 2HtA3El 500,000& 500
- AMNIED] 500,000& 500
-d3|F FAkzel| 500,000 500
OREXEX X2l (erd2e]) 3,700
-REXEX =4 2,000,000& 2,000
-SYUEZ(11kw) 700,000 700
—FEEIX wib| 1,000,000& 1,000
OBte=x #H| sXlzel(erdael) 5,000
-HEX RY, RE ASEE
1,000,000& 1,000
=S LI|D1(3.7kw) 1,000,000 1,000
-=SRIDIZ SZ71(18.5kw)
1,000,000& 1,000
0% sdXgs 1,000,000 1,000
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SN BALTAED
B @ - HAHR|(BY/MOEE - £F)
ool SZII=AE 29 (e A
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
-=diil elg, X8 dseE
500,000 500
-BSE Mot 500,000 500
O8+=3=4Hl |A2(E2) 1,400
- E I (5.5w) 500,000& 500
-Ex32 NSEX 500,000 500
-2+32 BI(2.2kw) 400,000& 400
OX2e ~=4Hl FXA2cl] 2,800
-Aeld S 1,800,000& 1,800
-VopeH 1,000,000& 1,000
Og=HelAld |SXiZeldl(eEate]) 3,500
-ZciXl SSEZ(3.7kn) 1,000,000& 1,000
&=l 1,000,000& 1,000
-AEED 600,000& 600
-EAEHE S 500,000 500
-AH012 0I5 2801 100,000 100
-WEkE SEZJ| (2.2kw) 300,000& 300
Odts SHEZE RX2el(td2e]) 14,160
-SHERY =4, 4 6,460,000& 6,460
-SHELY £=58Z 5,700,000& 5,700
-MopH 2,000,000 2,000
OA=£H| 2,000
=2 800,000& 800
-~ = EA 400,000 400
-HEx ASI 800,000 800
O==&A=4H| d4dl & X 8,19%
—-PHELA 770,000 770
-00 BiE 1,925,000& 1,925
-D0dI Al 1,575,000& 1,575
-MLSS Hatd| 2,025,000& 2,025
-Z S Ik~ Al (LT-200) 1,900,000& 1,900
O==H&a 2 MI|ZH |X2el(etd2e]) 5,500
-&o|ed 500,000 500
-8 dFEX 1,000,000& 1,000
-SYHO £ 1,800,000 1,800
-LED I (25W) 1,000,000& 1,000
-0V 2101=(2.50+2C) 300,000& 300
-HTESI(0kw S 45) 400,000 400
-HH &I XHEFD1(64B/600,2048/225 S 3F)
500,000 500
OZAIBtHIe & FAE+ 500,000 500
OAgdd| sl 2,000,000 2,000
Od==Al2c 3,200




TN 2EYoE
B @ - HAHR|(BY/MOEE - £F)
el SFII=AE 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
-BEx ¥ AES 1,500,000& 1,500
“HAAE & RELIX 400,000 400
-SH UASS & €S 1,300,000 1,300
202 04| 2,480 3,660 1,180
01 =LHOLI 2,480 3,660 21,180
OFIIEY |X2E A2+ 20 ol
20,0002 x1+3& 1]~ 123 720
Ox&& N W8 & =Xl 015 8% =
2 oI
20,0003 1 *4 12|+ 123 960
OJIAHEH |X&e] EF =8 =L 0
20,0002 %12 #32 131+ 122 720
OZT H22AA 97 22 48 2UY0II(
22l) 20,0002« 1 *12 13|42 80
207 ARl 34,612 32,970 1,642
03 Alg 32t 34,612 32,970 1,642
O=223Z:H =8N 4,200
TN AlSf 200,000 » 122 A 2,400
TP AlSf 300,000 62 A 1,800
OSBXMCIAIE 257 12,500
- ASEA 400,000 *202f A 8,000
—PAC 450,000& *102f A 4,500
OZ2X g4+%4E 7Y 6,560
=48 DX STH
600,000& *102} A 6.000
—Ot=XclE EAatHI0IE
56,0003 102 A 560
OU3Y AZTFU(SEE) 11,352
-UENSEH 400,000 52 A 2,000
-2HAHRI0IE 56,0003 » 182 A 1,008
—PAC 450,000 102 A 4,500
—Ite A CF(NaoH)4.5% 70,0003 %102 A 700
~Xh A Ak CHNaOC | ) 12%
42,0002 %102 A 420
—SArdt 324,000 x18f A 324
-Hiet= 200,0003 * 122 A 2,400
307 el2tol & 531,065 531,065
05 2I2tRIE =S 531,065 531,065
OdllEot=M el 2telCHatt]
531,065,000 531,065
308 AFAIEHMSOIE 4,000 4,000
12 JEREgs 4,000 4,000
g+ €A 0ld RES(SLULRASSE
&) 4,000,000 *1Hl& 4,000
OtSoteE RAZALI(BZII=AE 29) 254,338 242,968 11,370
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TN 2EYoE
B @ - HAHR|(BY/MOEE - £F)
& BFIIZANE 29 (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 74,358 69,208 5,180
01 At2teltl 10,608 10,608 0
OZcliid SEot=HelAlE =E2BAE T
S= i 10,608
-SR2(E2, L, i) St=HMelAld =
FAAE W8 7Y
1,000 »24J1 %365 8,760
-2712(50ton/e 014) St=HelAE =23
AE Mg 7Y 1,000 %1124 * 122 1,344
-2712(50ton/€ 018 Gt=HelAlE =2
AE =8 7Y 1,000& =420~ 123 504
02 S3=gHl 63,750 58,600 5,180
OOtSsct=xeld RX2el(etd2el) 43,500
-Otsotexcld =48 & Fa
4,000,000& 4,000
-0tSot==XMel& JIA&h]
10,000,000 10,000
-0tSdte=HMeld 14|
10,000,000& 10,000
-OtSot==xeld A58EFY
16,000,000 16,000
-OtSot=xeld o, 2re 3,500,000& 3,500
OO0IStt SHEZY SXl2el(edae]) 12,250
SHEZY =4 H Fa
7,000,000& 7,000
-SHERY =S8E 2,250,000 2,250
-MOF 2t 3,000,000& 3,000
OSAHHEZZ ®I|48H sXl=el(erdze]) 3,000
—cil 2 #I A 1,500,000 1,500
-HNE CIXE AHED 1,500,000& 1,500
OFR3E HMelAlZ (&=, g, g8, s¢,
0l2) A28 =3¢ LAYl
5,000,000& 5,000
202 04l 1,920 2,700 AT780
01 =LHAHI 1,920 2,700 AT780
OltsoleE RAZe 27 =& =0
20,0002 x2H 42U x13]x 123 1,920
307 @12t01 & 162,060 162,060
05 eit?(& = 162,060 162,060
OAAE S3ot=xelAld 2te| it 162,060
-2 2330kl AlE 2telti el
151,140,000 161,140
-S30t=TAIE 2t AXLINE SH
Clla] 10,920,000 10,920
401 Al HIZ R 0HbI 16,000 9,000 7,000
01 AlZ28| 16,000 9,000 7,000




TN 2EYoE
B @ - HAHR|(BY/MOEE - £F)
el SFII=AE 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ObtSdot=Held |FEAH 2 (td2e)
8,000,000& 8,000
Oltsot=HMeld e ASI| B(erA
2e) 8,000,000 8,000
S3otrXcld AldE JEUNEH 31,680 71,169 N39,489
401 AIEHIZ SR 0HYI 31,680 71,169 39,489
01 Al&HI 31,680 71,169 A\39,489
ObtSat=HMelAIZ(dd, gt=, 24 Jls
&IEt 31,680,000 31,680
SSoteHcE Al FotEEd 40,000 40,000 0
401 AlEHIZ 2018 40,000 40,000
01 Al&H| 40,000 40,000
OZTZoH4H2IT LS FIIAHEY
5,000,000& «4 I A*23] 40,000
HY2AIH(BZAot=C ) (DIEHIIE 89,770 89,685 85
Jl=3H| 89,770 89,685 85
Jl=3H] 31,050 30,725 325
201 er23| 26,190 25,865 325
01 At2teltl 22,920 22,920 0
OZMEE AtR2tell]
50,0002 *31H*12& 18,600
oue, BN RS2
20,0002« 185+ 122 4,320
2 S5=2g4l 3,270 2,945 325
OZMEg gF =4 R8R= 3,270
-t H 4003 %4,000 1,600
-SJ|R# 2,530 »66021 1,670
203 =4l 4,860 4,860
04 PAE2EERFAH 4,860 4,860
ORMEEE =2 405,000 122 4,860
gxe 29 58,720 58,960 A240
201 2egh=3| 58,720 58,960 A240
01 At22t2lt] 58,720 58,960 A240
og - =4 57,720
-2 60,0002 x2ZH*116 13,920
=7 60,0002 x2EH *365 43,800
Ogia 7 22 & MSY
500,000 <22 1,000
eSS (&5) (83 /40sE - =2) 3,243,099 3,171,068 72,031
WA XIE 3,243,099 3,171,068 72,031
[t AN ES 3,243,099 3,171,068 72,031
701 JIEtI HSHES 3,077,393 3,171,068 N93,675
01 JIEt=IHE ES 3,077,393 3,171,068 A\93,675
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2A:
X XH -
o e

Sk

Ofl &F2H

MEE
Ofl &k2h

3,077,393,000&

3,077,393

165,706

165,706,000

165,706
165,706
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